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SH EANE D
ol Y2 YA

gl JI2Z3HI(ZADHZ )

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O Yet+=gH| 23,798
02 332494l 1,400 1,400 0
O0332=2 % HA 400
O A& & H| K X Yl 1,000
o Hl 63,600 63,600 0
202 04| 63,600 63,600 0
01 2LHOHI 63,600 63,600 0
O=2WAHHl 63,600
OZ Wyl 200,000& x20H x12& 48,000
O&2 04l 65,000& x20H x12& 15,600
MEESS(ZAINLD) 500,000 300,000 200,000
LHEHHKIES (S AN D) 500,000 300,000 200,000
IO AIHEAEUHXNELA EEIH =2 500,000 300,000 200,000
701 JIEISI HSHEZS 500,000 300,000 200,000
01 JIEtSI HE &= 500,000 300,000 200,000
O&AIDIEHEUXNBAELEIH Es2 500,000




